O %R HERX S HREE ZERE Bi&E KERIESEEIRE ZERMER ARERIER
2E 83 80 31 2 2.6 102/200
2HHH A 47 45 23 0 2.0 157/300
2AH1HEA B 44 42 23 0 1.8 155/300
> 27 LTER 28R C 54 51 25 3 2.0 155/300
2H%H 40 28 19 - 1.5 109/200
FH7FIA (A1HA2) 100 83 33 - 2.5 -
H5FIFA (FiHA3) 115 104 39 - 2.7 —
2E 85 82 35 2 2.3 102/200
2B A 41 38 28 0 1.4 152/300
2H#IHA B 25 22 17 1 1.3 164/300
BFRTLITER 28#i1HA C 31 31 19 1 1.6 154/300
2H#%H 48 34 21 - 1.6 115/200
H5FIA (FiTHA2) 111 93 38 — 2.4 —
555 (Ri7HA3) 126 115 39 - 2.9 —
2E 94 88 15 3 5.9 141/200
2HRIE A 61 57 6 3 9.5 226/300
2HmIEA B 60 57 17 3 3.4 220/300
TBHRIZER 2HmHE C 54 51 7 2 7.3 220/300
2A%HR 49 38 14 — 2.7 148/200
H5FIA (ATHA2) 142 140 17 — 8.2 —
H5FIF (FiTHA3) 152 145 18 - 8.1 —
e =ES| 41 38 23 1 1.7 91/200
2HHHA A 31 30 26 2 1.2 139/300
2HwIHA B 22 19 13 1 1.5 171/300
FHAUER 2H#HA C 28 26 21 2 1.2 143/300
2H%H 20 11 9 - 1.2 86/200
H7FIFA (WiHA2) 106 104 43 - 2.4 —
FH7FIA (A1HA3) 93 85 31 — 2.7 -
2R #THEA 0 0 0 0 - HEREELL
Wi 27 LTER 2% 1 1 1 - 1.0 270/300
HTFA 0 0 0 — — ERERL
2R #HA 0 0 0 0 - HEREELL
BEFYRAT LIHR 2R %5 0 0 0 — - HEREELL
—— HTFA 0 0 0 — — ERERL
EEI—X 2BHTHA 4 3 2 0 1.5 224/300
BRI ZHE 2R %5 4 1 0 - - BRERZL
H7FIA 1 0 0 — — -
2R #iEA 0 0 0 0 - EREERZL
FHA 2R 2B%&H 0 0 0 — — EREEL
H#7FH 1 1 1 - 1.0 —
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